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There are 24 questions in all.
Al questions are compulsory.
Marks for each question are indicated against it.

Question Nos. 1 and 2 are on filling Outline Maps of the World and India
respectively. Each question contains 4 test-items of very short answers of
I mark each.

Question Nos. 3 to 6 are very short answer questions carrying / mark each.
Answer to these questions should not exceed 30 words each.

Question Nos. 7 to 11 and 21 and 22 are also very short answer questions
carrying 2 marks each. Answers to these questions should not exceed 60 words
each.

Question Nos. 12 to 15 and 23 and 24 are short answer questions carrying
4 marks each. Answers to these questions should not exceed 700 words each.

(viii) Question Nos. 16 to 20 are long answer questions of 6 marks each. Answer

(ix)

x)

of each of these questions should not exceed /40 words each.

Use of templates or stencils for drawing outline maps in illustrating your
answer is allowed.

Answer of Question Nos. 21 to 24 of Section B should be given from any
one of the options.
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SECTION - A
e — i

1 The four geographical features are marked as (1), (2), 3) and "(4) on 4x1=4
the given political outline map of the World. Identify these features with
the help of the following information and write their correct names in your

answer-book :
(1) A volcano (2) A fold mountain
(3) A rift valley (4) A lava plateau
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The four geographical features are marked as (1), (2), (3) and (4) on 4x1=
the given political outline map of India. Identify these features with the help

of the following information and write ther correct names in your answer-book -
(1) A mountain peak (2) A river %
() A type of soil (4) A port

Political Map of India
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3 What is acid rain ? ; 1

T ant Rl ey & 2

4  Name the two main fiber crops of India. 1

Wﬁﬁwg@ﬁanmﬁ%ﬂmﬁrﬁgql

S  Why is productivity low in Tundra region ? Give any one reason. 1

TF WA IaAREHdT W w4 E ? B s BRYT fuRan |

6  Why is air transport essential in the North-eastern region of India 2 1

m%aﬂ?ﬂﬁ’iﬂaﬂfagwaﬁraﬂaawaﬁ%?

7 Mention the four phases of development of geography. , .4><-;-=.2

Tﬁa%ﬁwmﬁaﬁmaﬁwm%ql
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8 Define 'tide'. .

WR @ ufm fefag

9  Why is geography known as an integrating sciences ? Explain. 2

Tﬂaaﬁaﬁﬁa‘f@mfaamazﬁwam% ? WR Fifm |

10  Differentiate between a sea mount and guyot. 2

Hﬂiﬁ'&ﬂ@?ﬂéﬁ?ﬁﬁﬁmmﬂﬁql

11 Distinguish between conventional and non-conventional sources of energy 2

with examples.

wﬁﬁmmﬁ—mﬁﬁ%wmﬁmmmﬂﬁml

12 Describe any four factors that affect rainfall distribution in the world. 4x1=4

ﬁmﬁaﬁ%ﬁwﬁ%mﬁmﬁ%mmﬁmaﬂwaﬁﬁmi
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14

15

16

Explain with examples any two factors that influence the type of rural 2+2=4

settlements in India.

mﬁuﬁwmﬁaﬁ%mﬁwﬁawaﬁﬁhﬁﬁWﬁm'
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"No other biomes has undergone so much changes as the temperate 4x1=4

grassland biomes". Justify the statement with any four suitable arguments.

“ﬂ%mﬁﬁﬁqmqﬁaﬁﬁaﬁwﬁﬁm%aﬂﬁmmaﬂwwwﬁaﬁm”
o am R Tt ¥ @ B @ TEETT FEET |

Explain any four measures to improve human development index in India.  4x1=4

Wﬁﬂﬁaf&mw@%w&fﬁqﬁa&aﬂmﬁwaﬂﬁm

Describe any six points of economic significance of mountains 6x1=%

uﬁ%mﬁm%%%ﬁs:%ﬁéﬁmaﬁwaﬁﬁql
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(Local Area Planning)

(i & Fawm)

21 State any two challenges to planning of an area. 2x1=2

B O S e e G S

22 Explain any two precautions need to be observed while administering 2x1=2

the questionnaire.

YAEEl o0 999 UTEY [T WM 90 [hel 9 SIauieEl &l STl BNy |

23 Describe any four specific precautions need to be observed while 4x1=4

collecting the information.
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4x1=4
T ATIT ST A oEegs ? B WM FIRU WE P |
OPTION - I
e - 1
(Geography of Tourism in India)
(e ¥ v i)
21 State any four bases for classifying tourism. %X4=2
mﬂmﬂﬁm%%ﬁmmmmaﬁﬁq |
22 Why do we say earning through tourism is an invisible exports ? Explain. iz

mﬁmaﬁm&%%wéaﬁammﬁﬁaﬁm% ? TET HifwT |
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23 Describe any four major steps required for increasing the tourist arrival 4x1=4
in India.

maﬁ-qﬂzﬁ-%.wﬁwﬁ.%mmmﬁﬁwg@aﬂﬁm
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24 Explain the series of four steps followed in the training of tour guides and 4x1=4

travel agents.
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